EILFHRRZ-FEILERARTF SHTFEENY $E-EE FkMH
BYEZEE OULOBFERLALI-E

Beaisa| P8 |syEzs| OEER | £F |syEEE| @EER

(N) | (EERD ] (N (%) | (BFRD ] (N) (%)

EESTR (1st) (A B 120 32 0.4 24 75.0% 0.5 24 75.0%
HEMEFIE-F R (FAE) 23 0.3 20 87.0% 0.3 20 87.0%
1HHRHY—E R (A=) 22 0.4 16 72.7% 0.6 16 72.7%

FILFRRZ-FEILERRTF SHEERH $PE-EE THRERE
BYEZEE OULOBFERLALI-E

Beaisa| P8 |syEzs| EEER | £ |syEEE| @IEER

(AN | D] (A (%) | (B (AN) (%)

REESR(TE) 22 0.3 17 77.3% 0.4 17 77.3%
REHS—ERXHK(AE) 22 05 16 72.7% 0.6 16 72.7%
&R E R (B E) 22 0.3 17 77.3% 0.4 17 77.3%
HEZHEH—ER4EH (F2) 23 0.3 17 73.9% 0.4 17 73.9%
HE-REEFR (FE) 22 0.4 17 77.3% 0.4 17 77.3%

EILFHRRZ-EILERRTF SHEERH $PE-EE THRHE
BYEZEE OULOBFERLALI-E

Beaisa| P8 |syEzs| EEER | £ |syEEE| @IEER

(N) | (EERD ] (N) (%) | (BFRD ] (N) (%)

EESTR (1st) (AE- 120 27 05 25 92.6% 0.5 25 92.6%
HEMEFIE-E R (FE) 24 0.3 18 75.0% 0.4 18 75.0%
1HHRHY—E XK (A=) 25 0.4 18 72.0% 0.4 18 72.0%

EILFHRRZ-FEILERRTF SHAEERH $PE-EE THRERE
BYEEE OULOBFERLALIE

BEeaisa| P8 |syEzs| EEER | £ |syEEE| @EER

(AN) | R (A (%) | (B (AN) (%)

REESR(TE) 30 0.3 15 50.0% 0.4 15 50.0%
REH—EXHK(AE) 30 05 12 40.0% 0.5 12 40.0%
&R E RAEER (F1E) 31 05 15 48.4% 0.6 15 48.4%
REZHEH—ER4EH (F12) 30 0.1 15 50.0% 0.2 15 50.0%
HE-REEFR (FE) 30 0.4 14 46.7% 0.5 14 46.7%

BILERAZ - BELEHRZ(RAERE] FFMSEEH FE-EE THRME
EEEH OUEDHFERLALLE

Beaa| P8 |syEzs| EEER | £F |syEEE| @EER

(N) | (BERD ] (N) (%) | (BFRD ] (N) (%)

EEFEW 22 0.3 14 63.6% 0.4 14 63.6%
RELEHIE - 12 = n 21 0.2 15 71.4% 0.3 12 57.1%
15;|Y—E ik 21 0.2 12 57.1% 0.3 15 71.4%




EILFHRRZ-EILERRF SHOEERH FE-EE FHRH
BYEZEE OULOBFERLALI-E

Beaisa| P8 |syEzs| OEER | £F |syEEE| @EER
(N) | (EERD ] (N (%) | (BFRD ] (N) (%)
RE R 17 0.3 12 70.6% 0.3 12 70.6%
REY—E X 17 0.4 12 70.6% 0.4 12 70.6%
15 E R AR R 17 0.3 13 76.5% 0.3 13 76.5%
RELEY—E X 4R 17 0.2 15 88.2% 0.2 15 88.2%
HE-HEER 17 0.2 13 76.5% 0.2 13 76.5%

BILERAZE - BELEHRZ(RAERE] FMEENH PE-EEF THRME
EEEH U EDHFERLALLE

Beaia| P8 |syEzs| EEER | £F |syEEE| @EER
(N) | (EERD ] (N (%) | (BFRD ] (N) (%)
EEFEW 11 0.0 8 72.7% 0.1 8 72.7%
RELEHIE - 1= in 11 0.1 9 81.8% 0.1 9 81.8%
15;|Y—E iR 11 0.1 8 72.7% 0.1 8 72.7%




